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297 | g=#mTF| MEE | B XS4 T AL R B TR 0112 36 74. 38 19
298 |m==mT4| R | & PN T O BB THENE 0112 37 73.70 20
299 | g=%HTF| TH— | B XS4 T AL R B TR 0112 38 73. 42 21
300 |g=%mTF| EH B PN T O BB THENE 0112 45 71.35 22
301 | #=#FTH| XIH S XS4 T AL R B TR 0112 35 67. 72

302 | #=8wTF | MHA % PN T O BB THENE 0112 B

303 | g=%m T | TH S XS4 T AL R B TR 0112 s

304 | w=EE T | B4 | & | AMNTTEY R ER R AR 0505 26 80. 78 1
305 | g=#HTF| HEE % | XWINT AL IR R AR EOR 0505 29 80. 70 2
306 | B=2ETE | FHE | & | BINATELREE [E A A 0505 23 78. 32 3
307 | w=km T4 | B | 5 | BINATELRER AR EOR 0505 25 77. 42 4
308 | m=HmTa | MEK | 5 [ XNATEY R @R R AR 0505 24 76. 52 5
309 |g=mTH| BEW | & | BMTOLRER AR EOR 0505 21 76. 44 6
310 | =% T4 | BRfRan | & | XNAT a4 fRiEb R AR 0505 28 76. 23 7
311 | g=%mTF| fIE 2| XBINT AL IR R AR EOR 0505 31 76. 21 8
312 | #=my T | FHEW | L | B HEY R ER 2GR 0505 27 75. 72 9
313 | B=HH T | MR | & | BINATALIRER AR EOR 0505 20 75. 43 10
314 | g=2mT4 | BAOE | B | M ATEy s E AR A 0505 33 74. 80 11
315 | g=%mTF | T | B | BMTOLRER AR EOR 0505 19 74. 68 12
316 | B=2m T4 | ZH 7| XBIN TR E A A 0505 15 74. 25 13
317 | g=%mTF | K % | XWINT AL IR R AR EOR 0505 22 71. 67 14
318 | w=Hm T4 | FBi | & | XNATE R ER 52 ES N 0505 30 69. 26

319 | =TT | KENH | L | BINATEHRER AR EOR 0505 s

320 | m=Hm T | FEB%E | & | XNTTEY R @R 52 ES N 0505 B

321 | =55 TF | AXRK | B | BINATEHRER TR 0521 52 80. 56 1
322 |g=%mTF| EH 2| XN =N REE R 52 ES N 0603 7 82. 16 1
323 | =G T | EAW | & [ BHHHE=ARER AR EOR 0603 6 81.89 2
324 | m=HE T | KR | & [ WHTE=ARER 52 ES N 0603 9 79. 45 3
325 | B=HF TR | Ak | & [ WHATE = ANRER AR EOR 0603 10 78. 34 4
326 | #=%ETFF| LW 2| XN = N REE R R AR 0603 16 77. 80 5
327 | = TF| kit 5| BT = AR ER R EOR 0603 18 75. 20 6
328 | BT T | KRB | & [ WHMTHE=ARER R AR 0603 B

329 |g=%mTF| £L—E | & [BHTE=ARER R EOR 0603 ]

330 |w=H T | Dk | & [ BHAE = ANRER 521 SSN 0603 B

331 | E=HHTH| BT | & [ BHHHE=ARER R EOR 0603 s

332 | w=EE T | FET | & [ WHTE=ARER R AR 0603 B

T, T |




